
   هاي تكميلي تستپاسخنامه 
  »)1(عمومي رياضي « 

  
  

  
  »سوم تا پنجم  هاي چاپ «

  )1(آزمون 
  »3«ـ گزينه 5  »1«ـ گزينه 4  »1«ـ گزينه 3  »1«ـ گزينه 2  »2«ـ گزينه 1
  »4«ـ گزينه 10  »4«ـ گزينه 9  »2«ـ گزينه 8  »4«ـ گزينه 7  »1«ـ گزينه 6
  »3«ـ گزينه 15  »1«ـ گزينه 14  »3«ـ گزينه 13  »2«ـ گزينه 12  »1«ـ گزينه 11

  )2(آزمون 
  »3«ـ گزينه 5  »1«ـ گزينه 4  »3«ـ گزينه 3  »2«ـ گزينه 2  »1«ـ گزينه 1
  »1«ـ گزينه 10  »4«ـ گزينه 9  »3«ـ گزينه 8  »3«ـ گزينه 7  »1«ـ گزينه 6
  »2«ـ گزينه 15  »4«ـ گزينه 14  »4«ـ گزينه 13  »2«ـ گزينه 12  »2«ـ گزينه 11

  )3(آزمون 
  »4«ـ گزينه 5  »1«ـ گزينه 4  »1«ـ گزينه 3  »4«ـ گزينه 2  »2«ـ گزينه 1
  »2«ـ گزينه 10  »2«ـ گزينه 9  »3«ـ گزينه 8  »4«ـ گزينه 7  »3«ـ گزينه 6
  »1«ـ گزينه 15  »2«ـ گزينه 14  »1«ـ گزينه 13  »1«ـ گزينه 12  »2«ـ گزينه 11

  )4(آزمون 
  »2«ـ گزينه 5  »4«ـ گزينه 4  »2«ـ گزينه 3  »3«ـ گزينه 2  »3«ـ گزينه 1
  »4«ـ گزينه 10  »3«ـ گزينه 9  »2«ـ گزينه 8  »4«ـ گزينه 7  »4«ـ گزينه 6
  »2«ـ گزينه 15  »4«ـ گزينه 14  »4«ـ گزينه 13  »4«ـ گزينه 12  »3«ـ گزينه 11

  )5(آزمون 
  »1«ـ گزينه 5  »2«ـ گزينه 4  »4«ـ گزينه 3  »3«ـ گزينه 2  »3«ـ گزينه 1
  »4«ـ گزينه 10  »4«ـ گزينه 9  »1«ـ گزينه 8  »3« گزينه ـ7  »1«ـ گزينه 6
  »4«ـ گزينه 15  »4«ـ گزينه 14  »2«ـ گزينه 13  »2«ـ گزينه 12  »1«ـ گزينه 11

  )6(آزمون 
  »4«ـ گزينه 5  »2«ـ گزينه 4  »3«ـ گزينه 3  »3«ـ گزينه 2  »2«ـ گزينه 1
  »3«ـ گزينه 10  »3«ـ گزينه 9  »3«ـ گزينه 8  »1«ـ گزينه 7  »4«ـ گزينه 6
  »3«ـ گزينه 15  »2«ـ گزينه 14  »4«ـ گزينه 13  »1«ـ گزينه 12  »1«ـ گزينه 11

  )7(آزمون 
  »3«ـ گزينه 5  »1«ـ گزينه 4  »2«ـ گزينه 3  »2«ـ گزينه 2  »4«ـ گزينه 1
  »4«ـ گزينه 10  »3«ـ گزينه 9  »3«ـ گزينه 8  »2«ـ گزينه 7  »3«ـ گزينه 6
  »4«ـ گزينه 15  »1«ـ گزينه 14  »3«ـ گزينه 13  »3«ـ گزينه 12  »4«ـ گزينه 11

  )8(آزمون 
  »4«ـ گزينه 5  »3«ـ گزينه 4  »1«ـ گزينه 3  »3«ـ گزينه 2  »4«ـ گزينه 1
  »2«ـ گزينه 10  »2«ـ گزينه 9  »3«ـ گزينه 8  »1«ـ گزينه 7  »3«ـ گزينه 6
  »4«ـ گزينه 15  »2«ـ گزينه 14  »2«ـ گزينه 13  »3«ـ گزينه 12  »1«ـ گزينه 11

  )9(آزمون 
  »2«ـ گزينه 5  »1«ـ گزينه 4  »4«ـ گزينه 3  »4«ـ گزينه 2  »4«ـ گزينه 1
  »3«ـ گزينه 10  »3«ـ گزينه 9  »4«ـ گزينه 8  »3«ـ گزينه 7  »3«ـ گزينه 6
  »3«ـ گزينه 15  »4«ـ گزينه 14  »2«ـ گزينه 13  »1«ـ گزينه 12  »2«ـ گزينه 11
  »1«ـ گزينه 20  »2«ـ گزينه 19  »1 «ـ گزينه18  »4«ـ گزينه 17  »3«ـ گزينه 16

  )10(آزمون 
  »3«ـ گزينه 5  »4«ـ گزينه 4  »3«ـ گزينه 3  »2«ـ گزينه 2  »1«ـ گزينه 1
  »3«ـ گزينه 10  »3«ـ گزينه 9  »4«ـ گزينه 8  »2«ـ گزينه 7  »1«ـ گزينه 6
  »4«ـ گزينه 15  »1«ـ گزينه 14  »3«ـ گزينه 13  »4«ـ گزينه 12  »2«ـ گزينه 11
  »3«ـ گزينه 20  »1«ـ گزينه 19  »4«ـ گزينه 18  »3«ـ گزينه 17  »1«ينه ـ گز16

  


